Annex 8
Formula for Sampling Design of Questionnaire Survey

                  (Z)^2*pq*N

N=-----------------------------------

       (e)^2*Z(N-1)+ Z^2*p*q

N= 42.6        (recalculation)

While:          n = Size of the sample

                      Z = Standard variate for a given confidence level= 1.96

                              (As per normal curve table at 95% confidence level)

                      p = Sample proportion 

                      q = (1-p) sample non-proportion 

                      e = precision or acceptable error

                      N = population size

                     n1 = 21.4           n1 = sample size (villages) 
                     Z = 1.96

                     p = 0.5

                     q = 0.5

                     e = 0.2

                     N = 189

                     n2 = 95.7            n1 = sample size (households)

                     Z = 1.96

                     p = 0.5

                     q = 0.5

                     e = 0.1

                     N = 30056







